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*EHD = MHARER
T, Yr2»EBLTzeE, AR D.

1 |z +y| = |zl + |y

HEERKO MO0 xy =0

2] x| = |y| = |z + ]
ZERE O SIoo (x+yy =0

1], 2lzzroT
izl =yl = |z +y
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zl + |y

TAMPSZES L&

y#EuT, thit —HAAER v,

@ M|z+y| =0 |zl +|y|z0THs.
(Iz| + |y]) = |z +y|? = 2% + 2| ay| + 2 — (22 + 20y + ¥?)
=2(|zy| —xy) =0
ko |z+ylP=(lzl +|y|)
£oT |z+y| =zl + |y| TH5.
SO ODIE |zy| —xy=0 &0 2y =0

2l %##%2T
2zl =[x+ + | = |z+y|+ |-y = |z +y| + |y
EoT lzl—|y| = |z+y| TH5.
HEWHONODIE (x+y)(—y) =0 Thbsd (r+yy=0

@) |z +y| =0 Th2.
lzl =yl <0m51E x|l —|y| <0<zl 4+ |y| ooz,
x|l —|y| =0 7m51F
lx+y2—(lz] — |y|)’ = 22 + 22y + o2 — (22 — 2| 2y | + ¢?)
=2xy+ |zy|) =0
zhky (lzl— |y < |z +yl?
EoT lzl—|y| = |z +y|
LEFSVKO L ODI
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a, b, x, yrE- oL =
(ax +by)? < (a®+ %) (x* + y?)

&3 N AIRVASTOTE
(a, ) =(0,0) 71 (x,y)=(0,0) g~xF a:b=x:y
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(a,b) *(0,0) 2> (x,y)*=(0,0) D& x
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EA=N N A RVASIOTES
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= (ay)* — 2abxy + (bx)? + (bz)* — 2bcyz + (cy)? + (cx)? — 2cazx + (az)?
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LENE D SEODIF ay—bx=022bz—cy=0»2cxr—az=0
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ay, dao, ety Ay, bI’ b27 Y bnbliﬁo)t%

(o) =(Zae) £00
ERAY PR5)
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FEDED LD ok
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¥lx apiay: L a,=byiby - b,

® @ (a1, ag, -, ap) = (0,0, -+, 0) F721% (by, by, -, by) = (0,0, -+, 0) D& =
(7£38) = (HiB) =0
© (a1, ag, -, @) = (0,0, =+, 0) 72 (by, by, =, by) % (0, 0, =+, 0) D& =
L EHE LT

2 (akt — bk>2 = kél (akth — 2apt + bk2>

= <k§1 Clk2>t2 — 2< ki:l Clk>t + ki:l bkz =0

(S a2)e—2 S ap)t+ 3 b =0 0WHRE D 2 LT
k=1 k=1 =}
D (g -(§aN o) =0

n 2 n
Fubs (X ab) =( 2 a?) 26
k=1
FTPED DD
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